

$|\xi| < 1$ $\frac{1}{8} \frac{1}{\sqrt{1-\xi^2}}$ $\frac{1}{8} \frac{1}{\sqrt{1-\xi^2}}$ $\frac{1}{8} \frac{1}{\sqrt{1-\xi^2}}$ $\frac{1}{8} \frac{1}{\sqrt{1-\xi^2}}$ $\frac{1}{8} \frac{1}{\sqrt{1-\xi^2}}$ $\frac{1}{8} \frac{1}{\sqrt{1-\xi^2}}$ $\frac{1}{8} \frac{1}{\sqrt{1-\xi^2}}$ $\frac{1}{8} \frac{1}{\sqrt{1-\xi^2}}$ $\frac{1}{8} \frac{1}{\sqrt{1-\xi^2}}$

$$= \frac{4}{\pi} \int_0^{2\pi} \frac{z}{(\xi z^2 + 2z + \xi)^2} dz = \left| z_{1,2} = \frac{-1 \pm \sqrt{1-\xi^2}}{\xi} \right| = \left| \frac{-1 - \sqrt{1-\xi^2}}{\xi} \right| = \frac{1 + \sqrt{1-\xi^2}}{|\xi|} \geq \frac{1}{|\xi|} > 1$$

$$= \frac{4}{\pi} \int_0^{2\pi} \frac{z dz}{(z - z_1)^2 (z - z_2)^2} = *$$

$$\text{Res}(f, z_2) = \lim_{z \rightarrow z_2} \left(\frac{z}{(z - z_1)^2} \right) = \lim_{z \rightarrow z_2} \frac{(z - z_1) - z_2}{(z - z_1)^3} = \frac{-z_1 - z_2}{(z_2 - z_1)^3} = \frac{-z_1 - z_2}{\xi \frac{(1-\xi^2)^{3/2}}{\xi^3} \cdot 8} = \frac{\xi^2}{4(1-\xi^2)^{3/2}}$$

$$* = 2\pi i \cdot \frac{4}{\pi \cdot \xi^2} \cdot \frac{\xi^2}{4(1-\xi^2)^{3/2}} = 2\pi(1-\xi^2)^{-3/2}$$